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Second -order reaction ( involving P
two molecules of one reagent )
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Any one reagent only has a
single reaction order . If three
graphs are prepared :[x) vs Tj
In us t

vs t ; only
one graph will be linear
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and

that graph confirms the order
of that reagent in the reaction
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In the integrated rate law method
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if there are multiple reagents
,

the dependency on one reagent

can be established by keeping
the concentrations of the other
reagents large by comparison .
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will make the change in the
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so any effect on
reaction rate will only be du@ to
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reagent being targeted .
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Bases → Most common definition LG

→ Base reacts with Ht
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